
 

 

1 



 

 

2 

NDA EXAM 

PART 'A' 
 

Directions (Q. Nos. 1-10) Each item in this 

section consists of a sentence with an 

underlined word/words followed by four 

options. Select the option that is nearest in 

meaning to the underlined world/words. 

1. The discussion was wound up after a long 

fruitful exchange of view. 

a. postponed b. cut short 

c. interrupted d. concluded 

 

2. He was fully alive to the need for making 

adjustments. 

a. concerned about b. worried about 

c. aware of d. in different about 

 

3. The police officer tried to intimidate the 

witness but in vain. 

a. inform b. reward c. frighten d. persuade 

 

4. We must adopt drastic measures to control 

population growth. 

a. simple b. dramatic c. realistic d. severe 

 

5. He is extremely meticulous in his 

approach. 

a. simple b. careful c. fair d. reasonable 

 

6. The experts‟ minute examination brought 

to light some important clues. 

a. quick b. de tailed c. superficial d. 

prolonged 

 

7. The decision of the Union government to 

repeal the Urban Land Ceiling Act has been 

welcomed by all. 

a. suppress  b. amend 

c. cancel   d. with hold 

 

8. This is his maiden appearance on the 

screen. 

a. first b. last 

c. girlish d. shy 

 

9. At the end of the marathon everybody was 

exhausted. 

a. weakened 

b. honoured 

c. satisfied 

d. tired 

 

10. He gave me a counterfeit coin. 

a. rare b. fake 

c. unmatured d. inferior 

 

Directions (Q. Nos. 11-20) Each item in 

this section consists of a sentence with an 

underlined word/words followed by four 

options. Select the option that is opposite 

in meaning to the underlined word/words.  

 

11. My mother has been work ing hard for 

the last two weeks and she feels run down. 

a. morbid b. energetic 

c. exhausted d. emotional 

 

12. The President condemned the Act of 

violence during the celebration of 

the festival. 

a. reason b. instigation 

c. restraint d. sobriety 

 

13. The students made a generous 

contribution to the flood relief fund. 

a. niggard b. selfish 

c. spend thrift d. indecent 

 

14. He was just idle by temperament. 

a. employed b. occupied 

c. industrious d. happy 

 

15. Most of the decisions taken by the officer 

were unjust. 

a. serious b. lenient 



 

 

3 

c. correct  d. imbecile 

 

16. He is a loving father and takes great 

delight in his children. 

a. revolt b. dissatisfaction 

c. enjoyment d. disgust 

 

17. He was quite concerned about his son‟s 

career. 

a. unrelated b. indifferent 

c. dispassionate d. carefree 

 

18. They are confident of success. 

a. imprudent b. impatient 

c. diffident d. reluctant 

 

19. We carried on the search for the missing 

person. 

a. delayed 

b. reconsidered 

c. broke up 

d. called off 

 

20. This TV has many indigenous 

components. 

a. Indian b. foreign 

c. unnatural d. genuine 

 

Directions (Q. Nos. 21-30) Each of the 

following sentence in this section has a 

blank space and four words/group of 

words given after the sentence. Select the 

word or group/words you consider most 

appropriate for the blank space and mark 

your response accordingly. 

21. He looks as if he .......... weary. 

a. is b. was c. would be d. were 

 

22. My house is insured .......... theft and fire. 

a. for b. against c. in d. towards 

 

23. The result of the prolonged discussion 

was 

a. disappointment b. disappointing 

c. disappointed d. to disappoint 

 

24. You are lucky .......... in the 20
th

 century. 

a. by being born b. to have been born 

c. for being born d. to have born 

 

25. Sita is true to 

a. word b. her words 

c. the words d. words 

26. Years .......... since I saw her last. 

a. have passed 

b. had passed 

c. had been passing 

d. have been passing 

 

27. When he heard the terrible noise he asked 

me what was .......... on. 

a. happening b. being 

c. getting d. going 

28. Could you lend me some money ? I am 

very .......... of cash at the  

moment. 

a. down b. low c. short d. scarce 

29. I saw her when she was standing the side 

of the old statue. 

a. by 

b. at 

c. in 

d. beyond 

 

30. True friends never .......... their loved ones 

in adversity. 

a. abuse 

b. criticise 

c. be fool 

d. desert 

 

Directions (Qs. 31-40): In the following 

passage, there are blanks, each of which 

has been numbered. These numbers are 

printed below the passage and against 
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each, five words, are suggested one of 

which fits the blank appropriately. Find 

out the appropriate word in each case. 

 

Most of us are (31) of open conflict and 

avoid it if we can. And there is a (32) to 

expressing and working through conflict. If 

the working through involves harsh words 

and name-calling people feel deeply hurt and 

relationships can be (33). Sometimes 

permanently. Some group members may be 

afraid that if they really (34) their anger, they 

may go out of control and become Violent, or 

they may do this. These fears can be very 

(35) and based on experience. So why take 

the risk ? Why not avoid conflict at all costs 

? Conflict is rather like disease (36) is best, 

that means attending to areas where (37) may 

occur before they become an issue. If you 

have not (38) a conflict happening, your next 

choice is to treat it early, 93. or hope that it 

goes away. If it goes away over time fine. If 

it (39). then you will still have to handle 

(treat) it and it 

is likely to be more (40). 

31. (a) scared (b) careful (c) reckless 

(d) aware (e) worried 

 

32. (a) challenge (b) measure (c) principle 

(d) chance (e) risk 

 

33. (a) established (b) maligned (c) damaged 

(d) rebuilt (e) involved 

 

34. (a) sublimate (b) express (c) minimize 

(d) regulate (e) control 

 

35. (a) baseless (b) imaginary 

(c) exaggerative (d) real 

(e) national 

 

36. (a) cure (b) diagnosis 

(c) prescription (d) prevention 

(e) medicine 

 

37. (a) harmony (b) discomfiture 

(c) disagreement (d) consensus 

(e) statement 

 

38. (a) expressed (b) ignored (c) induced 

(d) seen (e) perverted 

 

39. (a) doesn‟t (b) won‟t (c) don‟t 

(d) not (e) hasn‟t 

 

40. (a) credible (b) serious (c) fraudulent 

(d) urgent (e) skilled 

Directions (Qs. 41-45): Each question 

below has two blanks, each blank 

indicating that something has been 

omitted. Find out which option can be 

used to fill up the blank in the sentence in 

the same sequence to make it meaningfully 

complete. 

 

41. A new law has been passed stating that 

no actor would be allowed to shoot beyond 

twelve hours in a day and those who ……… 

this norm would henceforth be ……… for it. 

(a) followed, punished 

(b) accompanied, reprimanded 

(c) flouted - penalized 

(d) defied, applauded 

(e) obeyed, disciplined 

 

42. The newly-opened restaurant at the 

District Centre .............. to the tastes of 

people from all walks of life and one is likely 

to find an .............. group there. 

(a) appeals - archetypal 

(b) panders - connoisseur 

(c) caters - ecletic 

(d) inhibits - diverse 

(e) None of these 

 

43. Physicians may soon have _______ to 

help paralysed people move their limbs 
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bypassing the _______ nerves that once 

controlled their muscles. 

(a) instruments – detrimental 

(b) ways – damaged 

(c) reason – involuntary 

(d) impediments – complex 

(e) None of these 

 

Directions (Q.44–47) : Choose the 

word/group of words which is most similar 

in meaning to the word/group of words 

printed in bold as used in the passage.  

44. FLAGGED 

(a) highlighted (b) stopped (c) bannered 

(d) caused (e) hoisted 

45. FALLING SHORT 

(a) remaining tiny (b) limiting 

(c) stumbling upon (d) just satisfying 

(e) not meeting 

46. PERMITTED 

(a) forbidden (b) pressed (c) allowed 

(d) sent (e) forced 

47. SHOCKING 

(a) wicked (b) pleasing (c) appalling 

(d) electrifying (e) scandalous 

 

Directions (Q. 48–50) : Choose the 

word/group of words which is most 

opposite in meaning to the word/ group of 

words printed in bold as used in the 

passage. 

48. UNSCRUPULOUS 

(a) corrupt (b) even (c) constant 

(d) honest (e) measured 

49. SHARP 

(a) mild (b) thin (c) blunt 

(d) rounded (e) pointed 

50. COMPLIANT 

(a) fixed (b) unyielding (c) stagnant 

(d) obedient (e) negative 
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NDA EXAM 

PART 'B' 
 

1. Which one of the following statements 

about a satellite orbiting around the Earth is 

correct? 

a. Satellite is kept in orbit by remote control 

from ground station. 

b. Satellite is kept in orbit by retro-rocket and 

solar energy keeps it moving around the 

Earth. 

c. Satellite requires energy from solar panels 

and solid fuels for orbiting. 

d. Satellite does not required any energy for 

orbiting. 

 

2. Which one of the following statements 

about energy is correct? 

a. Energy can be created as well as 

destroyed. 

b. Energy can be created but not destroyed. 

c. Energy can neither be created nor 

destroyed. 

d. Energy cannot be created but can be 

destroyed. 

 

3. Step-up transformers are used for 

a. increasing electrical power 

b. decreasing electrical power 

c. decreasing voltage 

d. increasing voltage 

4. Which one among the following waves 

carries the maximum energy per photon? 

a. X-rays b. Radio waves 

c. Light waves d. Microwaves 

 

5. How much CO2 is produced on heating of 

1 kg of carbon? 

a. 113 kg  

b. 311kg  

c. 43 kg  

d. 34 kg 

 

1. पथृ्वी के चारों ओर पररक्रमा कर रह े ईपग्रह के बारे में 

ननम्ननिनखत में से कौन सा कथन सही ह?ै 

ए। ईपग्रह को ग्राईंड स्टेशन से ररमोट कंट्रोि द्वारा कक्षा में 

रखा जाता ह।ै 

बी। ईपग्रह को रेट्रो-रॉकेट द्वारा कक्षा में रखा जाता ह ैऔर सौर 

उजाा आसे पथृ्वी के चारों ओर गनतमान रखती ह।ै 

सी। ईपग्रह को पररक्रमा के निए सौर पैनिों और ठोस इधंन से 

उजाा की अवश्यकता होती ह।ै 

डी। ईपग्रह को पररक्रमा करन े के निए नकसी उजाा की 

अवश्यकता नहीं होती ह।ै 

2. उजाा के बारे में ननम्ननिनखत में से कौन सा कथन सही 

ह?ै 

।ए। उजाा को बनाया भी जा सकता ह ैऔर नष्ट भी नकया जा 

सकता ह।ै 

।बी। उजाा बनाइ जा सकती ह ैिेनकन नष्ट नहीं। 

सी। उजाा को न तो बनाया जा सकता ह ैऔर न ही नष्ट नकया 

।जा सकता ह।ै 

।डी। उजाा बनाइ नहीं जा सकती, िेनकन नष्ट की जा सकती 

ह।ै 

3. स्टेप-ऄप ट्रांसफामार का ईपयोग नकसके निए नकया जाता 

ह ै

।ए। नवद्यतु शनि में वनृि 

।बी। नवद्यतु शनि में कमी 

।सी। घटते वोल्टेज 

।डी। वोल्टेज बढाना 

4. ननम्ननिनखत में से कौन सी तरंग प्रनत फोटान ऄनधकतम 

उजाा वहन करती ह?ै 

।ए। एक्स-रे   ।बी। रेनडयो तरंगें 

।सी। प्रकाश तरंगें  ।डी। माआक्रोववे 

5. 1 नकिो काबान को गमा करन ेपर नकतनी CO2 बनती 

ह?ै 

ए। 113 नकग्रा 

बी। 311नकग्रा 

सी। 43 नकिो 

डी। 34 नकिो 
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6. Zinc is used to protect iron form corrosion 

because zinc is  

a. more electropositive than iron 

b. cheaper than iron 

c. a bluish white metal 

d. a good conductor of heat and electricity 

 

7. Which one of the following gases is placed 

second in respect of abundance in the Earth‟s 

atmosphere? 

a. Oxygen b. Hydrogen 

c. Nitrogen d. Carbon dioxide 

 

8. Which one of the following is a chemical 

change? 

a. Cutting of hair 

b. Graying of hair naturally 

c. Swelling of resin in water 

d. Cutting of fruit 

 

9. Which one among the following chemicals 

is used as washing soda? 

a. Calcium carbonate 

b. Calcium bicarbonate 

c. Sodium carbonate 

d. Sodium bicarbonate 

 

10. Why is potassium permanganate used for 

purifying drinking water? 

a. It kills germs 

b. It dissolves the impurities 

c. It is a reducting agent 

d. It is an oxidising agent 

11. Consider the following movements : 

1. Moplah Rebellion 

2. Bardoli Satyagraha 

3. Champaran Satyagraha 

4. Salt Satyagraha 

Which one of the following is the correct 

chronological order of the above ascending 

order? 

a. 1-3-4-2 b. 3-1-2-4 

c. 2-3-1-4 d. 4-2-1-3 

 

6. नजकं का ईपयोग िोह ेको जगं से बचाने के निए नकया 

जाता ह ैक्योंनक नजंक ह ै

।ए। िोह ेकी तिुना में ऄनधक नवद्यतु धनात्मक 

।बी। िोह ेसे सस्ता 

।सी। एक नीिी सफेद धातु 

।डी। गमी और नबजिी का एक ऄच्छा संवाहक 

7. ननम्ननिनखत में से कौन सी गसै पथृ्वी के वायमुडंि में 

प्रचरुता के मामिे में दसूरे स्थान पर ह?ै 

।ए। ऑक्सीजन   ।बी। हाआड्रोजन 

।सी। नाआट्रोजन   ।डी। काबान डाआअक्साआड 

8. ननम्ननिनखत में से कौन-सा एक रासायननक पररवतान ह?ै 

।ए। बाि काटना 

।बी। बािों का प्राकृनतक रूप से सफेद होना 

।सी। पानी में राि की सजून 

।डी। फि काटना 

9. ननम्ननिनखत में से नकस रसायन का प्रयोग वानशगं सोडा 

के रूप में नकया जाता ह?ै 

।ए। कैनल्शयम काबोनेट 

।बी। कैनल्शयम बाआकाबोनेट 

।सी। सोनडयम काबोनेट 

।डी। सोनडयम बाआकाबोनेट 

10. पीने के पानी को शिु करन ेके निए पोटेनशयम परमैंगनेट 

का ईपयोग क्यों नकया जाता ह?ै 

ए। यह कीटाणओु ंको मारता ह ै

बी। यह ऄशनुियों को भगं करता ह ै

सी। यह एक कम करन ेवािा एजेंट ह ै

डी। यह एक ऑक्सीकरण एजेंट ह ै

11. ननम्ननिनखत अदंोिनों पर नवचार करें: 

1. मोपिा नवद्रोह 

2. बारडोिी सत्याग्रह 

3. चंपारण सत्याग्रह: 

4. नमक सत्याग्रह 

ननम्ननिनखत में से कौन सा ईपरोि अरोही क्रम का सही 

कािानकु्रनमक क्रम ह?ै 

।ए। 1-3-4-2   ।ख। 3-1-2-4 

।सी। 2-3-1-4  ।घ। 4-2-1-3 
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12. Which one of the following travelogues 

has given an insight on the reign of  

Muhammed-bin-Tughlaq? 

(a) Ibn Battuta‟s Rihla 

(b) Francois Bernier‟s Travels in the Mogul 

Empire 

(c) Niccolao Manucci‟s Storia do Mogor 

(d) Tavernier‟s Travels in India 

13. Which one of the following was not a 

Chishti Sufi saint? 

(a) Khwaja Moinuddin 

(b) Baba Fariduddin Gani-i-Shakar 

(c) Nizamuddin Auliya 

(d) Shaikh Bahauddin Zakariya 

14. In April, 2017, India celebrated 100 years 

of Mahatma Gandhi‟s 

(a) Satyagraha in Kheda 

(b) Dandi March 

(c) Satyagraha in Champaran 

(d) Return from South Africa 

15. A rainbow is produced due to which one 

of the following phenomena? 

(a) Dispersion of light 

(b) Interference of light 

(c) Diffraction of light 

(d) Scattering of light by atmospheric dust 

16. Bats detect obstacles in their path by 

receiving the reflected  

(a) Infrasonic waves (b) Ultrasonic waves 

(c) Radio waves (d) Microwaves 

17. The statement that „heat cannot flow by 

itself from a body at a lower temperature to a 

body at a higher temperature‟, is known as a. 

Zeroth law of thermodynamics 

b. First law of thermodynamics 

c. Second law of thermodynamics 

d. Third law of thermodynamics 

18. Which one of the following waves does 

not belong to the category of the other three? 

(a) X-rays    

(b) Microwaves 

(c) Radio waves  (d) Sound waves 

 

12. ननम्ननिनखत में से नकस यात्रा वतृांत ने महुम्मद-नबन-

तगुिक के शासनकाि के बारे में जानकारी दी ह?ै 

ए। आब्न बततूा का ररहिा 

बी। मगुि साम्राज्य में फ्रें कोआस बननायर की यात्राएं 

सी। ननकोिाओ मनचुी का स्टोररया डो मोगोरो 

डी। टैवननायर टे्रवल्स आन आनंडया 

13. ननम्ननिनखत में से कौन नचश्ती सफूी संत नहीं था? 

ए। ख्वाजा मोआनदु्दीन 

बी। बाबा फरीददु्दीन गनी-ए-शकरी 

सी। ननजामदु्दीन औनिया 

डी। शखे बहाईद्दीन जकाररया 

14. ऄप्रैि, 2017 में, भारत ने महात्मा गांधी के 100 वषा 

परेू होने का जश्न मनाया 

ए। खेडा में सत्याग्रह  बी। दांडी माचा 

सी। चंपारण में सत्याग्रह 

डी। दनक्षण ऄफ्रीका से वापसी 

15. ननम्ननिनखत में से नकस एक घटना के कारण आन्द्द्रधनषु 

ईत्पन्द्न होता ह?ै 

ए। प्रकाश का प्रकीणान  बी। प्रकाश का हस्तक्षेप 

सी। प्रकाश का नववतान 

डी। वायुमडंिीय धूि द्वारा प्रकाश का प्रकीणान 

16. चमगादड परावनतात प्राप्त करके ऄपने रास्ते में अने 

वािी बाधाओ ंका पता िगाते हैं 

ए। आन्द्फ्रासोननक तरंगें  सी। ऄल्ट्रासोननक तरंगें 

सी। रेनडयो तरंगें   डी। माआक्रोववे 

17. यह कथन नक 'कम तापमान पर शरीर से ईच्च तापमान 

पर शरीर में गमी ऄपने अप प्रवानहत नहीं हो सकती', के रूप 

में जाना जाता ह।ै  

ए। उष्मप्रवनैगकी का जीरोथ ननयम 

बी। उष्मप्रवैनगकी का पहिा ननयम 

सी। उष्मप्रवनैगकी का दसूरा ननयम 

डी। उष्मप्रवनैगकी का तीसरा ननयम 

18. ननम्ननिनखत में से कौन सी तरंग ऄन्द्य तीन की श्रेणी से 

संबंनधत नहीं ह?ै 

ए। एक्स-रे   बी. माआक्रोववे 

सी। रेनडयो तरंगें   डी।. ध्वनन तरंगें 
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19. Which one of the following statements is 

not correct? 

a. Human eye is a refracting system 

containing a diverging lens. 

b. The retina of the human eye contains 

millions of light sensitive cells, called Rods 

and Cones, which convert the light into 

electrical messages. 

c. Every image that is focused on the retina is 

upside down. 

d. We need both eyes to judge the relative 

positions of objects accurately. 

  

20. Which one of the following statements is 

not corect? 

a. Ultrasonic waves cannot get reflected, 

refracted or absorbed. 

b. Ultrasonic waves are used to detect the 

presence of defects like cracks, porsity, etc. 

in the internal structure of common structure 

materials. 

c. Ultrasonic waves can be used for making 

holes in very hard materials like diamond. 

d. Ultrasonic waves cannot travel through 

vacuum. 

21. In a vacuum, a five-rupee coin, a feather 

of sparrow bird and a mango are dropped 

simultaneously from the same height. The 

time taken by them to reach the bottom is t1 , 

t2 and t3 respectively. In this situation, we 

will observe that 

a. t t t 1 2 3 > > b. t t t 1 3 2 > > 

c. t t t 3 1 2 > > d. t t t 1 2 3 = = 

 

22. Electron emission from a metallic surface 

by application of light is knwon as 

a. Thermionic emission 

b. Photoelectric emission 

c. High field emission 

d. Autoelectronic emission 

23. How long does light take to reach the 

Earth from the Sun? 

a. About 4 minutes b. About 8 minutes 

c. About 24 minutes d. About 24 hours 

19. ननम्ननिनखत में से कौन सा कथन सही नहीं ह?ै 

ए। मानव अंख एक ऄपवताक प्रणािी ह ैनजसमें एक ऄपसारी 

िेंस होता ह।ै 

बी। मानव अंख की रेनटना में िाखों प्रकाश संवदेनशीि 

कोनशकाए ंहोती हैं, नजन्द्हें रॉड और कोन कहा जाता ह,ै जो 

प्रकाश को नवद्यतु संदेशों में पररवनतात करती हैं। 

सी। प्रत्येक छनव जो रेनटना पर कें नद्रत होती ह,ै ईिटी होती ह।ै 

डी। वस्तुओ ंकी सापेक्ष नस्थनत का सही-सही अकिन करन े

के निए हमें दोनों अखँों की अवश्यकता होती ह।ै 

20. ननम्ननिनखत में से कौन सा कथन सही नहीं ह?ै 

ए। ऄल्ट्रासोननक तरंगें परावनतात, ऄपवनतात या ऄवशोनषत 

नहीं हो सकती हैं। 

बी। ऄल्ट्रासोननक तरंगों का ईपयोग सामान्द्य संरचना सामग्री 

की अतंररक संरचना में दरारें, नछद्र अनद जसैे दोषों की 

ईपनस्थनत का पता िगाने के निए नकया जाता ह।ै 

सी। पराश्रव्य तरंगों का ईपयोग हीरे जैसे ऄत्यंत कठोर पदाथों 

में छेद करन ेके निए नकया जा सकता ह।ै 

डी। पराश्रव्य तरंगें ननवाात में नहीं चि सकतीं। 

21. एक ननवाात में पाँच रुपये का नसक्का, गौरैया का एक 

पंख और एक अम को समान उँचाइ से एक साथ नगराया 

जाता ह।ै ईनके द्वारा ति तक पह चँने में निया गया समय 

क्रमशः t1, t2 और t3 ह।ै आस नस्थनत में, हम दखेेंगे नक 

ए। टी टी टी 1 2 3 > > ख. टी टी टी 1 3 2 > > 

सी। टी टी टी 3 1 2>> डी। टी टी टी 1 2 3 = = 

22. प्रकाश के ऄनपु्रयोग द्वारा धात ुकी सतह से आिेक्ट्रॉन 

ईत्सजान के रूप में जाना जाता ह ै

ए। नकसी गमा स्त्रोत से आिेक्ट्रॉन ईत्सजान 

बी। फोटोआिेनक्ट्रक ईत्सजान 

सी। ईच्च क्षेत्र ईत्सजान 

डी। ऑटोआिेक्ट्रॉननक ईत्सजान 

23. प्रकाश को सयूा से पथृ्वी तक पह चंने में नकतना समय 

िगता ह?ै 

ए। िगभग 4 नमनट  बी। िगभग 8 नमनट 

सी। िगभग 24 नमनट  डी। िगभग 24 घटें 
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24. Radioactivity is measured by  

a. GM Counter b. Polarimeter 

c. Calorimeter d. Colorimeter 

 

25. The mirrors used as rear-view mirrors in 

vehicles are 

a. concave b. convex 

c. cylindrical d. plane 

 

26. Which one of the following waves is used 

for detecting forgery in currency notes? 

a. Ultraviolet waves b. Infrared waves 

c. Radio waves d. Microwaves 

 

27. The majority charge carriers in a p-type 

semiconductor are 

a. free electrons 

b. conduction electrons 

c. ions 

d. holes 

 

28. The ionisation energy of hydrogen atom 

in the ground state is 

a. 13.6 Me V b. 13.6 eV 

c. 13.6 Joule d. Zero 

 

29. When pure water boils vigorously, the 

bubbles that rise to the surface are composed 

primarily of 

a. air 

b. hydrogen 

c. hydrogen and oxygen 

d. water vapour 

30. Which compound, when dissolved in 

water, conducts electricity and forms a basic 

solution 

a. HCl b. CH3COOH 

c. CH3OH d. NaoH 

31.Which agency/organisation built India‟s 

first Indigenous drone defence dome 

„Indrajal‟? 

[A]DRDO  [B]ISRO 

[C]L&T  [D] Grene Robotics 

 

24. रेनडयोधनमाता नकसके द्वारा मापी जाती ह?ै 

ए। जीएम काईंटर बी. पोिाररमीटर 

सी। कैिोरीमीटर डी. colorimeter 

25. वाहनों में ररयर-व्य ू नमरर के रूप में ईपयोग नकए जाने 

वाि ेदपाण हैं 

ए। ऄवति   बी। ईत्ति 

सी। बेिनाकार   डी। नवमान 

26. मदु्रा नोटों में जािसाजी का पता िगान े के निए 

ननम्ननिनखत में से नकस तरंग का ईपयोग नकया जाता ह?ै 

ए। पराबैंगनी तरंगें  बी। आन्द्फ्रारेड तरंगें 

सी। रेनडयो तरंगें   डी। माआक्रोवेव 

27. पी-टाआप सेमीकंडक्टर में बह संख्यक चाजा वाहक हैं 

ए। मिु आिेक्ट्रॉन 

बी। चािन आिेक्ट्रॉन 

सी। अयनों 

डी। छेद 

28. जमीनी ऄवस्था में हाआड्रोजन परमाण ुकी अयनन उजाा 

ह ै

ए। 13.6 मी वी  बी। 13.6 इवी 

सी। 13.6 जिू   डी। शनू्द्य 

29. जब शिु पानी जोर से ईबिता ह,ै तो सतह पर ईठने 

वाि ेबुिबिेु मखु्य रूप से बने होते हैं 

ए। वायु 

बी। हाआड्रोजन 

सी। हाआड्रोजन और ऑक्सीजन 

डी। जि वाष्प 

30. कौन सा यौनगक, पानी में घिुने पर, नबजिी का 

संचािन करता ह ैऔर एक मिू घोि बनाता ह ै

ए। एचसीएि   बी। CH3COOH 

सी। सीएच3ओएच  डी। नाओहो 

31.नकस एजेंसी/संगठन ने भारत का पहिा स्वदशेी ड्रोन रक्षा 

गुबंद 'आदं्रजाि' बनाया? 

[ए] डीअरडीओ  [बी] आसरो 

[सी] एि एंड टी 

[डी] ग्रीन रोबोनटक्स 
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32.Which organization has developed high-

strength beta titanium alloy to be used in 

aerospace applications? 

[A]ISRO 

[B]DRDO 

[C]HAL 

[D] NALCO 

 

33.What type of missile is „New Generation 

Akash Missile (Akash-NG)‟? 

[A]Surface-to-airmissile 

[B]Airto Air Missile 

[C] Surface to Surface Missile 

[D] Intercontinental Ballistic Missile 

 

34.What is the venue of INDRA-21, the Joint 

Military Exercise of Indian Army and 

Russian Army ? 

[A] New Delhi 

[B] Moscow 

[C]Volgograd 

[D] Ghaziabad 

 

35.Which Indigenous aircraft carrier of India 

began its maiden sea trials recently? 

[A] INS Mysore 

[B] INS Rajput 

[C] INS Gomati 

[D] INS Vikrant 

 

36.Recently, which organization has inducted 

its first women officers in combat? 

[A] Central Industrial Security Force 

[B] Indo-Tibetan Border Police 

[C] Central Reserve Police Force 

[D] National Security Guard 

 

37.In which state/UT, Indian Air Force has 

built one of the world‟s highest mobile air 

traffic control towers? 

[A] Sikkim 

[B] Ladakh 

[C] Jammu and Kashmir 

[D] Himachal Pradesh 

32.नकस संगठन ने एयरोस्पेस ऄनपु्रयोगों में ईपयोग के निए 

ईच्च शनि वािे बीटा टाआटेननयम नमश्र धातु का नवकास 

नकया ह?ै 

[ए] आसरो  [बी] डीअरडीओ 

[सी] हिो  [डी] नाल्को 

33. 'नइ पीढी की अकाश नमसाआि (अकाश-एनजी)' 

नकस प्रकार की नमसाआि ह?ै 

[ए] सतह से हवा में मार करने वािी नमसाआि 

[बी] हवा से हवा में मार करने वािी नमसाआि 

[सी] सतह से सतह पर मार करन ेवािी नमसाआि 

[डी] आटंरकांनटनेंटि बैनिनस्टक नमसाआि 

34.भारतीय सेना और रूसी सेना के संयिु सैन्द्य ऄभ्यास 

INDRA-21 का स्थि क्या ह?ै 

[ए] नइ नदल्िी  [बी] मास्को 

[सी] वोल्गोग्राड  [डी] गानजयाबाद 

35.भारत के नकस स्वदशेी नवमानवाहक पोत ने हाि ही में 

ऄपना पहिा समदु्री परीक्षण शरुू नकया? 

[ए] अइएनएस मसैरू 

[बी] अइएनएस राजपूत 

[सी] अइएनएस गोमती 

[डी] अइएनएस नवक्रांत 

36.हाि ही में नकस संगठन ने यिु में ऄपनी पहिी मनहिा 

ऄनधकाररयों को शानमि नकया ह?ै 

[ए] कें द्रीय औद्योनगक सरुक्षा बि 

[बी] भारत-नतब्बत सीमा पनुिस 

[सी] कें द्रीय ररजवा पनुिस बि 

[डी] राष्ट्रीय सरुक्षा गाडा 

37.नकस राज्य/कें द्र शानसत प्रदशे में, भारतीय वायु सेना ने 

दनुनया के सबसे उंचे मोबाआि हवाइ यातायात ननयंत्रण टावरों 

में से एक का ननमााण नकया ह?ै 

[ए] नसनक्कम  [बी] िद्दाख 

[सी] जम्म ूऔर कश्मीर 

[डी] नहमाचि प्रदशे 
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38.Which organization has flagged off 

Freedom Cyclothon 2021? 

[A] Border Security Force 

[B] Central Reserve Police Force 

[C] Indo-Tibetan Border Police 

[D] Central Industrial Security Force 

 

39.With which country, Indian navy has 

signed a „Joint Guidance‟ for naval 

cooperation? 

[A] Australia  [B] Japan 

[C] United States  [D] South Korea 

 

40.Recently, with which country, India has 

inked a deal to procure assault rifles for the 

Indian Army? 

[A] Israel 

[B] Russia 

[C] United States 

[D] Canada 

 

41.The Supreme Court has extended the time 

line for implementation of permanent 

commission to women SSC officers in which 

armed force? 

[A] Indian Army 

[B] Indian Air Force 

[C] Indian Navy 

[D] Indian Coast Guard 

 

42.What is the name of the new indigenously 

built ship commissioned in the Indian Coast 

Guard? 

[A] ICG Tat Rakshak 

[B] ICG Shaurya 

[C] ICG Yuva 

[D] ICG C452 

43.The „Indo-Thai CORPAT‟, which was 

seen in the news, is the exercise involving 

which armed force of India and Thailand? 

[A] Army 

[B] Navy 

[C] Air Force 

[D] Coast Guard 

38.नकस संगठन ने फ्रीडम साआक्िोथॉन 2021 को हरी 

झडंी नदखाइ ह?ै 

[ए] सीमा सरुक्षा बि 

[बी] कें द्रीय ररजवा पनुिस बि 

[सी] भारत-नतब्बत सीमा पनुिस 

[डी] कें द्रीय औद्योनगक सरुक्षा बि 

39. नकस दशे के साथ, भारतीय नौसेना ने नौसेना सहयोग के 

निए एक 'संयिु मागादशान' पर हस्ताक्षर नकए हैं? 

[ए] ऑस्टे्रनिया   [बी] जापान 

[सी] संयिु राज्य ऄमरेरका [डी] दनक्षण कोररया 

40.हाि ही में, भारत ने नकस दशे के साथ भारतीय सेना के 

निए ऄसॉल्ट राआफि खरीदने का समझौता नकया ह?ै 

[ए] आजराआि   [बी] रूस 

[सी] संयिु राज्य ऄमरेरका [डी] कनाडा 

41.सपु्रीम कोटा ने नकस सशस्त्र बि में मनहिा एसएससी 

ऄनधकाररयों को स्थायी कमीशन के कायाान्द्वयन के निए समय 

सीमा बढा दी ह?ै 

[ए] भारतीय सेना 

[बी] भारतीय वाय ुसेना 

[सी] भारतीय नौसेना 

[डी] भारतीय तट रक्षक 

42.भारतीय तटरक्षक बि में कमीशन नकए गए नए स्वदशे 

नननमात जहाज का नाम क्या ह?ै 

[ए] अइसीजी टाट रक्षक 

[बी] अइसीजी शौया 

[सी] अइसीजी युवा 

[डी] अइसीजी सी452 

43. 'आडंो-थाइ कॉपेट', जो खबरों में रहा, भारत और 

थाइिैंड के नकस सशस्त्र बि से संबंनधत ऄभ्यास ह?ै 

[ए] सेना 

[बी] नौसेना 

[सी] वाय ुसेना 

[डी] तटरक्षक बि 
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44.Navy Day is celebrated each year to 

commemorate which operation? 

[A] Operation Black Thunder 

[B] Operation Blue Star 

[C] Operation Tornado 

[D] Operation Trident 

 

45.Which organisation developed the 

Advanced Towed Artillery Gun System 

(ATAGS)? 

[A] BHEL 

[B] DRDO 

[C] OFB 

[D] ISRO 

 

46.What type of vessel is the Indian Coast 

Guard ship „Sujeet‟? 

[A]Frigatevessel 

[B] Corvette vessel 

[C] Off shore patrol vessel 

[D] Aircraft Carrier 

 

47.What type of military vehicle is C-454, 

which was recently commissioned at Surat? 

[A] Interceptor boat 

[B] Sea Drone 

[C] Offshore Patrol Vessel 

[D] Hover craft 

 

48.Prithvi-2 ballistic missiles, which were 

recently test-fired were manufactured by 

which organisation? 

[A] DRDO 

[B] GRSE 

[C] L&T 

[D] OFB 

 

49.What type of missile is “Prithvi-2”, which 

was recently test-fired? 

[A] Anti-Radar Missile 

[B] Anti-Aircraft Missile 

[C] Air to Air Missile 

[D] Surface to Surface Missile 

 

44.नौसेना नदवस प्रत्येक वषा नकस ऑपरेशन के ईपिक्ष्य में 

मनाया जाता ह?ै 

[ए] ऑपरेशन ब्िैक थंडर 

[बी] ऑपरेशन ब्ि ूस्टार 

[सी] ऑपरेशन टॉरनेडो 

[डी] ऑपरेशन ट्राआडेंट 

45.नकस संगठन ने ईन्द्नत टोड अनटािरी गन नसस्टम 

(एटीएजीएस) नवकनसत नकया ह?ै 

[ए] भिे  [बी] डीअरडीओ 

[सी] ओएफबी  [डी] आसरो 

46.भारतीय तटरक्षक जहाज 'सजुीत' नकस प्रकार का जहाज 

ह?ै 

[ए] नफ्रगटेवसेि  [बी] कावटे पोत 

[सी] ऄपतटीय गश्ती पोत[डी] नवमान वाहक 

47.सी-454 नकस प्रकार का सैन्द्य वाहन ह,ै नजस ेहाि ही 

में सरूत में कमीशन नकया गया था? 

[ए] आटंरसेप्टर नाव 

[बी] समदु्री ड्रोन 

[सी] ऄपतटीय गश्ती पोत 

[डी] होवर क्राफ्ट 

48.पथृ्वी-2 बैनिनस्टक नमसाआि, नजनका हाि ही में 

परीक्षण नकया गया था, का ननमााण नकस संगठन द्वारा नकया 

गया था? 

[ए] डीअरडीओ  [बी] जीअरएसइ 

[सी] एि एंड टी 

[डी] ओएफबी 

49. “पथृ्वी-2” नकस प्रकार की नमसाआि ह,ै नजसका हाि 

ही में परीक्षण नकया गया था? 

[ए] एटंी-रडार नमसाआि 

[बी] नवमान भदेी नमसाआि 

[C] हवा से हवा में मार करने वािी नमसाआि 

[डी] सतह से सतह पर मार करन ेवािी नमसाआि 
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50.„Super Hornet fighter jet‟, which was seen 

in the news recently, is developed by which 

manufacturer? 

[A] Boeing 

[B] Dassault Aviation 

[C] Air Bus 

[D] Tesla 

 
51.The DRDO handed over its „Landing gear 

systems for unmanned aerial vehicles‟, to 

which armed force? 

[A] Indian Army 

[B] Indian Navy 

[C] Indian Air Force 

[D] Indian Coast Guard 

 

52.„Sea Vigil-21‟ is a Defence Exercise 

undertaken by which country? 

[A] India 

[B] Sri Lanka 

[C] China 

[D] United Kingdom 

 

53.With reference to Defence, what is 

„ASMI‟, that was seen in the news recently? 

[A] Machine Pistol 

[B] Unmanned Aerial Vehicle 

[C] Anti-tank Guided Missile 

[D] Artillery Gun 

 

54.“Operation Sard Hawa”, which was 

making news recently, was organised by 

which organisation? 

[A] DRDO 

[B] ISRO 

[C] BSF 

[D] ITBP 

 

55.What is AMPHEX – 21, that was seen in 

the news recently? 

[A] Communication satellite 

[B] COVID Vaccine candidate 

[C] Tri service joint exercise of India 

[D] NASA‟s moon rover 

50. हाि ही में खबरों में रहा 'सपुर हॉनेट फाआटर जटे' नकस 

ननमााता द्वारा नवकनसत नकया गया ह?ै 

[ए] बोआगं 

[बी] डसॉल्ट एनवएशन 

[सी] एयर बस 

[डी] टेस्िा 

51.DRDO ने ऄपने 'मानव रनहत हवाइ वाहनों के निए 

िैंनडंग नगयर नसस्टम' नकस सशस्त्र बि को सौंपे हैं? 

[ए] भारतीय सेना 

[बी] भारतीय नौसेना 

[सी] भारतीय वाय ुसेना 

[डी] भारतीय तट रक्षक 

52.„सी नवनजि-21‟ नकस दशे द्वारा नकया गया एक रक्षा 

ऄभ्यास ह?ै 

[ए] भारत  [बी] श्रीिंका 

[सी] चीन  [डी] यनूाआटेड नकंगडम 

53.रक्षा के संदभा में, 'एएसएमअइ' क्या ह,ै जो हाि ही में 

खबरों में रहा? 

[ए] मशीन नपस्तौि 

[बी] मानव रनहत हवाइ वाहन 

[सी] एटंी टैंक गाआडेड नमसाआि 

[डी] अनटािरी गन 

54. "ऑपरेशन सरद हवा", जो हाि ही में चचाा में था, 

नकस संगठन द्वारा अयोनजत नकया गया था? 

[ए] डीअरडीओ  [बी] आसरो 

[सी] बीएसएफ 

[डी] अइटीबीपी 

55. AMPHEX-21 क्या ह,ै जो हाि ही में खबरों में 

रहा? 

[ए] संचार ईपग्रह 

[बी] COVID वकै्सीन ईम्मीदवार 

[सी] भारत का नत्र सेवा संयुि ऄभ्यास 

[डी] नासा के चंद्रमा रोवर 
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56.DRDO‟s Integrated weapons system 

design centre has been inaugurated in which 

city? 

[A] Mumbai  [B] New Delhi 

[C] Hyderabad [D] Kochi 

57.Which organisation is to supply the Super 

Rapid Gun Mounts (SRGM) for Indian 

Navy? 

[A] HAL  [B] DRDO 

[C] BHEL  [D] OFB 

58.What type of missile is VL- SRSAM? 

[A] Air to Air Missile 

[B] Surface to Surface Missile 

[C] Intercontinental Missile 

[D] Surface to Air Missile 

 

59.What is the name of the third Scorpene-

class submarine that has been inducted into 

the Indian Navy recently? 

[A] INS Kanakalata[B] INS Chennai 

[C] INS Kolkata [D] INS Karanj 

 

60.Which of the following statements related 

to principal quantum number (n) is not 

correct? 

[A] Energy of the orbital increases with 

increase of n 

[B] Size of an orbital increases with increase 

of n 

[C] The shell M is represented by principal 

quantum number 2 

[D] Total number of allowed orbitals in Shell 

K is 1 

61.What do we call the region where the 

probability density function reduces to zero? 

[A] shells  [B] orbits 

[C] nodes  [D] None of the above 

62.Which orbital will have lower energy if 

two orbitals have the same value of (n+l)? 

[A] orbital with lower value of n 

[B] orbital with lower value of l 

[C] orbital with lower value of (n-l) 

[D] None of the above 

 

56.DRDO के एकीकृत हनथयार प्रणािी नडजाआन कें द्र का 

ईद्घाटन नकस शहर में नकया गया ह?ै 

[ए] मुबंइ  [बी] नइ नदल्िी 

[सी] हदैराबाद  [डी] कोनच्च 

57.भारतीय नौसेना के निए सपुर रैनपड गन माईंट्स 

(SRGM) की अपनूता करने वािा कौन सा संगठन ह?ै 

[ए] हि   [बी] डीअरडीओ 

[सी] भिे  [डी] ओएफबी 

58.VL-SRSAM नकस प्रकार की नमसाआि ह?ै 

[A] हवा से हवा में मार करने वािी नमसाआि 

[बी] सतह से सतह पर मार करन ेवािी नमसाआि 

[सी] आटंरकांनटनेंटि नमसाआि 

[डी] सतह से हवा में मार करने वािी नमसाआि 

59. हाि ही में भारतीय नौसेना में शानमि की गइ तीसरी 

स्कॉपीन श्रेणी की पनडुब्बी का नाम क्या ह?ै 

[ए] अइएनएस कनकिता [बी] अइएनएस चेन्द्नइ 

[सी] अइएनएस कोिकाता  [डी] अइएनएस करंज 

60. प्रमखु क्वांटम संख्या (n) से संबंनधत ननम्ननिनखत में से 

कौन सा कथन सही नहीं ह?ै 

[ए] कक्षीय की उजाा n . की वनृि के साथ बढती ह ै

[बी] n . की वनृि के साथ एक कक्षीय का अकार बढता ह ै

[सी] शेि एम को प्रमखु क्वांटम संख्या 2. द्वारा दशााया गया ह ै

[डी] शैि के में ऄनुमत कक्षाओ ंकी कुि संख्या 1 . ह ै

61. ईस क्षेत्र को क्या कहते हैं जहां प्रानयकता घनत्व फिन 

शनू्द्य हो जाता ह?ै 

[ए] गोिे  [बी] कक्षाएं 

[सी] नोड्स  [डी] ईपरोि में से कोइ नहीं 

62. यनद दो कक्षकों का मान (n+l) समान हो तो नकस 

कक्षक की उजाा कम होगी? 

[ए] n . के कम मलू्य के साथ कक्षीय 

[बी] एि के कम मलू्य के साथ कक्षीय 

[सी] कक्षीय (एन-एि) के कम मलू्य के साथ 

[डी] ईपरोि में से कोइ नहीं 
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63.Which of the following is correct about 

effective nuclear charge experienced by the 

orbital? 

[A] it increases with increase of azimuthal 

quantum number 

[B] it increases with increase of magnetic 

quantum number 

[C] it decreases with increase of azimuthal 

quantum number 

[D] It is same everywhere 

64.When is the gamma ray emitted? 

[A] When a nucleus in a ground state goes to 

the excited state 

[B] When a nucleus in an excited state 

spontaneously decays to its ground state 

[C] When alpha rays and beta rays collide 

[D] None of the above 

65.Which of the following equation 

represents combination of Hydrogen gas with 

nitrogen to form ammonia? 

[A] 2H2 + N –> NH3 

[B] 2H + N3 –> NH3 

[C] 3H2 + N2 –> 2NH3 

[D] None of the above 

66.What is the sum of powers of the 

concentration of the reactants called as? 

[A] Order of reaction 

[B] Stage of reaction 

[C] Zone of reaction 

[D] None of the above 

67.How many periods and groups are there in 

the Modern Periodic table? 

[A] 18 groups, 7 periods 

[B] 16 groups, 18 periods 

[C] 7 groups, 18 periods 

[D] 14 groups, 8 periods 

68.Choose the correct statement about the 

modern periodic table: 

[A] Elements in any one group contain the 

same number of valence electrons 

[B] Elements in any one period contain the 

same number of shells 

[C] Both a and b 

[D] None 

63. कक्षीय द्वारा ऄनभुव नकए जाने वािे प्रभावी परमाण ुअवेश 

के बारे में ननम्ननिनखत में से कौन सा सही ह?ै 

[ए] यह ऄजीमथुि क्वांटम संख्या में वनृि के साथ बढता ह ै

[बी] यह चुंबकीय क्वांटम संख्या में वनृि के साथ बढता ह ै

[सी] यह ऄजीमथुि क्वांटम संख्या में वनृि के साथ घट जाती ह ै

[डी] यह हर जगह समान ह ै

64. गामा नकरण कब ईत्सनजात होती ह?ै 

[ए] जब एक जमीनी ऄवस्था में एक नानभक ईत्तेनजत ऄवस्था में 

जाता ह ै

[बी] जब एक ईत्तेनजत ऄवस्था में एक नानभक स्वतः ही ऄपनी 

जमीनी ऄवस्था में क्षय हो जाता ह ै

[सी] जब ऄल्फा नकरणें और बीटा नकरणें टकराती हैं 

[डी] ईपरोि में से कोइ नहीं 

65.ननम्ननिनखत में से कौन सा समीकरण ऄमोननया बनाने के 

निए नाआट्रोजन के साथ हाआड्रोजन गैस के संयोजन का प्रनतनननधत्व 

करता ह?ै 

[ए] 2H2 + N -> NH3 

[बी] 2एच + एन3 –> एनएच3 

[सी] ३एच२ + एन२ -> २एनएच३ 

[डी] ईपरोि में से कोइ नहीं 

66. ऄनभकारकों की सांद्रता की शनियों के योग को क्या कहते 

हैं? 

[ए] प्रनतनक्रया का क्रम [बी] प्रनतनक्रया का चरण 

[सी] प्रनतनक्रया का क्षेत्र [डी] ईपरोि में से कोइ नहीं 

67.अधनुनक अवता सारणी में नकतने अवता और समहू हैं? 

[ए] १८ समहू, ७ ऄवनध [बी] 16 समहू, 18 ऄवनध 

[सी] 7 समहू, 18 ऄवनध[डी] 14 समहू, 8 ऄवनध 

68. अधनुनक अवता सारणी के बारे में सही कथन का चयन 

कीनजए : 

[ए] नकसी एक समहू के तत्वों में समान संख्या में वैिेंस आिेक्ट्रॉन 

होते हैं 

[बी] नकसी एक अवता में तत्वों में कोशों की संख्या समान 

होती ह ै

[सी] दोनों ए और बी 

[डी] कोइ नहीं 



 

 

17 

69.Which of these elements do not belong to 

the same group? 

[A] Nickel  [B] Platinum 

[C] Darmstadtium [D] Roentgenium 
 

70.Which armed force has decided to employ 

retired combat dogs as „therapy dogs‟? 

[A] Indian Navy 

[B] Indian Army 

[C] Indo Tibetan Border Police 

[D] Indian Coast Guard 
 

71.“Shantir Ogroshena -2021” is a joint 

Military exercise between India and which 

country? 

[A] China  [B] Turkey 

[C] Bangladesh [D] Afghanistan 
 

72.„La Pérouse‟ is a Defence Exercise to be 

conducted by which country? 

[A] Italy  [B] Israel 

[C] France  [D] UAE 

 

73.With reference to Defence, what is “INAS 

323”, that was recently commissioned? 

[A] Unmanned Aerial Vehicle 

[B] Air Squadron 

[C] Submarine 

[D] Missile Launcher 

 

74.Which organisation developed „Crystal 

blade technology‟ for aero engines? 

[A] ISRO  [B] HAL 

[C] BEL  [D] DRDO 

 

75.„Taskheer-e-Jabal‟ military exercise was 

conducted by which country? 

[A] Israel  [B] Iran 

[C] Pakistan  [D] Afghanistan 

 

76.Which Indian Armed Force is set to create 

`Integrated battle groups (IBGs)‟? 

[A] Indian Army 

[B] Indian Navy 

[C] Indian Air Force 

[D] Indian Coast Guard 

69.आनमें से कौन सा तत्व एक ही समहू से संबंनधत नहीं ह?ै 

[एक ननकेि  [बी] प्िेनटनम 

[सी] डामास्टेनडयम [डी] रोएटंजनेनयम 

70.नकस सशस्त्र बि ने सेवाननवतृ्त िडाकू कुत्तों को 

'नचनकत्सा कुत्तों' के रूप में ननयिु करन ेका ननणाय निया ह?ै 

[ए] भारतीय नौसेना [बी] भारतीय सेना 

[सी] भारत नतब्बत सीमा पनुिस 

[डी] भारतीय तट रक्षक 

71. "शांनतर ओग्रोशनेा -2021" भारत और नकस दशे के 

बीच एक संयिु सैन्द्य ऄभ्यास ह?ै 

[ए] चीन  [बी] तकुी 

[सी] बांग्िादेश  [डी] ऄफगाननस्तान 

72.'िा पेरौस' नकस दशे द्वारा अयोनजत नकया जाने वािा 

एक रक्षा ऄभ्यास ह?ै 

[ए] आटिी  [बी] आजराआि 

[सी] फ्रांस  [डी] यएूइ 

73.रक्षा के संदभा में, "अइएनएएस 323" क्या ह,ै नजसे 

हाि ही में कमीशन नकया गया था? 

[ए] मानव रनहत हवाइ वाहन [बी] एयर स्क्वाड्रन 

[सी] पनडुब्बी   [डी] नमसाआि िांचर 

74.नकस संगठन ने एयरो आजंन के निए 'नक्रस्टि ब्िेड 

टेक्नोिॉजी' नवकनसत की? 

[ए] आसरो  [बी] हि 

[सी] बेि  [डी] डीअरडीओ 

75.„तस्कीर-ए-जबि‟ सैन्द्य ऄभ्यास नकस दशे द्वारा 

अयोनजत नकया गया था? 

[ए] आजराआि  [बी] इरान 

[सी] पानकस्तान  [डी] ऄफगाननस्तान 

76.कौन सा भारतीय सशस्त्र बि 'एकीकृत यिु समहू 

(अइबीजी)' बनाने के निए तैयार ह?ै 

[ए] भारतीय सेना [बी] भारतीय नौसेना 

[सी] भारतीय वाय ुसेना 

[डी] भारतीय तट रक्षक 
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77.The recently inducted Short Span 

Bridging System (SSBS)-10m by Indian 

Army has been developed by DRDO in 

association with which company? 

[A] Gammon India 

[B] Engineers India 

[C] Larsen & Toubro 

[D] IRB Infrastructure 
 

78.Which country recently unveiled “The Kit 

300”? 

[A] US  [B] UK 

[C] Israel  [D] Russia 
 

79.Which agency/organisation built India‟s 

first Indigenous drone defence dome 

„Indrajal‟? 

[A] DRDO  [B] ISRO 

[C] L&T  [D] Grene Robotics 
 

80.India recently held a virtual maritime 

exercise „Exercise Shield‟, with which 

countries? 

[A] Sri Lanka and Maldives 

[B] Bangladesh and Maldives 

[C] Japan and Thailand 

[D] USA and Russia 

81.Who among the following discovered that 

the sun was marked with sunspots? 

[A] Galileo 

[B] Copernicus 

[C] Fred Hoyle 

[D] Edwin Hubble 
 

82.What is a planet‟s rotation period also 

known as? 

[A] Hydrostatic Equilibrium 

[B] Stellar day 

[C] Retrograde rotation 

[D] Axial tilt 

83.When did the formation of the Earth take 

place? 

[A] 6.84 billion years ago 

[B] 4.54 billion years ago 

[C] 5.46 billion years ago 

[D] 2.64 billion years ago 

77.भारतीय सेना द्वारा हाि ही में शानमि शॉटा स्पैन निनजगं 

नसस्टम (SSBS)-10m को DRDO द्वारा नकस कंपनी 

के सहयोग से नवकनसत नकया गया ह?ै 

[ए] गमैन आनंडया  [बी] आजंीननयसा आनंडया 

[सी] िासान एंड टुिो [डी] अइअरबी आफं्रास्ट्रक्चर 

78.हाि ही में नकस दशे ने "द नकट 300" का ऄनावरण 

नकया? 

[ए] यूएस  [बी] यकेू 

[सी] आजराआि  [डी] रूस 

79.नकस एजेंसी/संगठन ने भारत का पहिा स्वदशेी ड्रोन रक्षा 

गुबंद 'आदं्रजाि' बनाया? 

[ए] डीअरडीओ  [बी] आसरो 

[सी] एि एंड टी  [डी] ग्रीन रोबोनटक्स 

80.भारत ने हाि ही में नकन दशेों के साथ एक अभासी 

समदु्री ऄभ्यास 'एक्सरसाआज शील्ड' अयोनजत नकया? 

[ए] श्रीिंका और मािदीव 

[बी] बांग्िादेश और मािदीव 

[सी] जापान और थाइिैंड 

[डी] यएूसए और रूस 

81.ननम्ननिनखत में से नकसने खोजा नक सयूा पर सनस्पॉट 

ऄनंकत हैं? 

[ए] गिैीनियो  [बी] कॉपरननकस 

[सी] फे्रड हॉयि  [डी] एडनवन हबि 

82. नकसी ग्रह के पररक्रमण काि को नकस नाम से भी जाना 

जाता ह?ै 

[ए] हाआड्रोस्टेनटक संतुिन [बी] तारकीय नदन 

[सी] प्रनतगामी रोटेशन 

[डी] ऄक्षीय झकुाव 

83.पथृ्वी का ननमााण कब ह अ था? 

[ए] 6.84 ऄरब साि पहिे 

[बी] ४.५४ ऄरब साि पहिे 

[सी] 5.46 ऄरब साि पहि े

[डी] २.६४ ऄरब साि पहिे 
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84.Who put forward the Gaseous Hypothesis 

theory of origin of earth? 

[A] Laplace  [B] Chamberlin 

[C] Kant  [D] James Jeans 
 

85.What is the process of successive 

deposition and formation of Sedimentary 

rocks called? 

[A] Foliation [B] Lithification 

[C] Crystallisation [D] Recrystallisation 
 

86.At which plate boundary the crust is 

neither created nor destroyed? 

[A] Convergent [B] Divergent 

[C] Transform 

[D] Plate Boundary Zones 
 

87.On which of the following does the rate of 

soil erosion depend? 

[A] Climate  [B] Slope 

[C] Type of Vegetation 

[D] All of the above 
 

88.What is the gentle slope resembling a 

pediment but formed by deposition of wind 

called? 

[A] Bajada  [B] Chinook 

[C] Loo  [D] Lahars 
 

89.Which among the following is the longest 

cave system in the world? 

[A] Jewel cave [B] Mammoth cave 

[C] Son Doong cave 

[D] Clearwater cave system 
 

90.Which among the following statements 

is/are correct about Marshes? 

1. A marsh is a wetland that is dominated by 

herbaceous rather than woody plant species. 

2. Marshes have extremely high levels of 

biological production, some of the highest in 

the world. 

3. They are important in supporting 

fisheries. 

Select the correct code from the options 

given below: 

[A] Only 1 & 2 [B] Only 1 & 3 

[C] Only 2 & 3 [D] 1, 2 & 3 

84.पथृ्वी की ईत्पनत्त का गैसीय पररकल्पना नसिांत नकसने 

प्रनतपानदत नकया? 

[ए] िाप्िास  [बी] चेम्बरनिन 

[सी] कांटो  [डी] जमे्स जीन्द्स 

85. तिछटी चट्टानों के क्रनमक ननक्षेपण और बनने की 

प्रनक्रया को क्या कहते हैं? 

[ए] पत्ते   [बी] निनथनफकेशन 

[सी] नक्रस्टिीकरण [डी] पनु: नक्रस्टिीकरण 

86.नकस प्िेट की सीमा पर क्रस्ट न तो बनता ह ैऔर न ही 

नष्ट होता ह?ै 

[ए] ऄनभसरण  [बी] डाआवजेंट 

[सी] ट्रांसफॉमा  [डी] प्िेट सीमा क्षेत्र 

87. मदृा ऄपरदन की दर ननम्ननिनखत में से नकस पर ननभार 

करती ह?ै 

[ए] जिवाय ु  [बी] ढिान 

[सी] वनस्पनत का प्रकार  [डी] ईपरोि सभी 

88. पेनडमेंट के समान िेनकन हवा के जमाव से बनने वािी 

कोमि ढिान को क्या कहते हैं? 

[ए] बजदा  [बी] नचनकू 

[सी] ि ू  [डी] िहासा 

89.ननम्ननिनखत में से कौन दनुनया की सबस ेिंबी गफुा प्रणािी 

ह?ै 

[ए] गहना गफुा  [बी] नवशाि गफुा 

[सी] सोन डंूग गफुा [डी] नक्ियरवॉटर गफुा प्रणािी 

90. माशा के बारे में ननम्ननिनखत में से कौन सा/से कथन 

सही ह/ैहैं? 

1. दिदि एक अद्राभनूम ह ैनजसमें काष्ठीय पौधों की प्रजानतयों के 

बजाय जडी-बनूटयों का प्रभतु्व ह।ै 

2. दिदि में जैनवक ईत्पादन का ईच्च स्तर ह,ै जो दनुनया में 

सबस ेज्यादा ह।ै 

3. व ेमत्स्य पािन को समथान दनेे में महत्वपणूा हैं। 

नीचे नदए गए नवकल्पों में से सही कूट का चयन कीनजए : 

[ए] केवि १ और २ [बी] केवि १ और ३ 

[सी] केवि 2 और 3 [डी] 1, 2 और 3 
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91.Which of the following is the essential 

element for batteries used in electric cars? 

[A] Magnesium [B] Lithium 

[C] Sodium  [D] Bromine 

 

92.Which of the following is not a correct 

statement about Bitumen? 

[A] It‟s a mixture of highly condensed 

polycyclic aromatic compounds 

[B] Its is soluble in Carbon Disulphide 

[C] SARA analysis is used to determine 

bitumen chemistry 

[D] All of above are correct statements 

 

93.The Alkali metals are called good 

reducing agents. This implies that__: 

[A] They easily capture electrons 

[B] They are not stable at room temperature 

[C] They easily lose electrons 

[D] They don‟t act with dilute acids 

 

94.The energy required to remove an electron 

from the outermost shell of an atom in its 

isolated gaseous state is called? 

[A] Electron Affinity 

[B] Reducing Potential 

[C] Ionization Potential 

[D] Shell Potential 

 

95.Highest percentage of nitrogen is found in 

which among the following fertilizers among 

the given options? 

[A] Calcium ammonium nitrate 

[B] Ammonium nitrate 

[C] Calcium nitrate 

[D] Urea 

 

96.Which among the following gas was 

leaked at Bhopal during the Bhopal gas 

tragedy at 2-3 December 1984? 

[A] Methyl isocyanide 

[B] Methyl isocyanate 

[C] Methyl isochloride 

[D] Methyl isochlorate 

91. आिेनक्ट्रक कारों में प्रयुि बैटररयों के निए ननम्ननिनखत 

में से कौन सा अवश्यक तत्व ह?ै 

[ए] मगै्नीनशयम  [बी] निनथयम 

[सी] सोनडयम  [डी] िोमीन 

92.ननम्ननिनखत में से कौन सा नबटुमने के बारे में सही कथन 

नहीं ह?ै 

[ए] यह ऄत्यनधक संघननत पॉिीसाआनक्िक सगुनंधत यौनगकों 

का नमश्रण ह ै

[बी] यह काबान डाआसल्फाआड में घिुनशीि ह ै

[सी] नबटुमने रसायन को ननधााररत करन े के निए सारा 

नवशे्लषण का ईपयोग नकया जाता ह ै

[डी] ईपरोि सभी सही कथन हैं 

93. क्षार धातुओ ं को ऄच्छा ऄपचायक कहा जाता ह।ै 

आसका ऄथा यह ह ैनक__: 

[ए] व ेअसानी से आिेक्ट्रॉनों को पकड िेत ेहैं 

[बी] व ेकमरे के तापमान पर नस्थर नहीं हैं 

[सी] व ेअसानी से आिेक्ट्रॉनों को खो देत ेहैं 

[डी] व ेतन ुऄम्िों के साथ काया नहीं करते हैं 

94. एक परमाण ुके सबसे बाहरी कोश से एक आिेक्ट्रॉन को 

ईसकी पथृक गसैीय ऄवस्था में ननकािने के निए अवश्यक 

उजाा कहिाती ह?ै 

[ए] आिेक्ट्रॉन अत्मीयता[बी] क्षमता को कम करना 

[सी] अयनीकरण क्षमता[डी] शैि क्षमता 

95.ननम्ननिनखत नवकल्पों में से नकस ईवारक में नाआट्रोजन का 

ईच्चतम प्रनतशत पाया जाता ह?ै 

[ए] कैनल्शयम ऄमोननयम नाआटे्रट[बी] ऄमोननयम नाआटे्रट 

[सी] कैनल्शयम नाआटे्रट  [डी] यरूरया 

96. ननम्ननिनखत में से कौन सी गसै भोपाि में 2-3 नदसंबर 

1984 को भोपाि गसै त्रासदी के दौरान िीक ह इ थी? 

[ए] नमथाआि अआसोसाआनाआड 

[बी] नमथाआि अआसोसाआनेट 

[सी] नमथाआि अआसोक्िोराआड 

[डी] नमथाआि अआसोक्िोरेट 
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97.White Phosphorous is represented by 

which among the following symbols? 

[A] P1 

[B] P2 

[C] P3 

[D] P4 

 

98.What happens to the weight of Iron, when 

it rusts? 

[A] Increases for long time 

[B] Decreases then increases 

[C] Increases then decreases 

[D] Remains the same 

 

99.Which among the following is major 

component of Gobar Gas? 

[A] Butane 

[B] Ethane 

[C] Propane 

[D] Metahne 

 

100.When Sulphur is heated with rubber, the 

process is commonly known as ? 

[A] Galvanization 

[B] Sulphonation 

[C] Vulcanization 

[D] Hydrodesulfurization 

 

 

 

 

 

 

 

 

 

 

 

 

 

97.सफेद फास्फोरस को ननम्ननिनखत में से नकस प्रतीक द्वारा 

दशााया जाता ह?ै 

[ए] पी१ 

[बी] पी2 

[सी] पी३ 

[डी] पी4 

98. िोह ेमें जगं िगने पर ईसके भार का क्या होता ह?ै 

[ए] िंबे समय तक बढता ह ै

[बी] घटता ह ैतो बढता ह ै

[सी] बढता ह ैनफर घटता ह ै

[डी] वही रहता ह ै

 

99.ननम्ननिनखत में से कौन गोबर गसै का प्रमखु घटक ह?ै 

[ए] ब्यटेून 

[बी] इथेन 

[सी] प्रोपेन 

[डी] मटेाहने 

 

100. जब सल्फर को रबर से गमा नकया जाता ह,ै तो आस 

प्रनक्रया को सामान्द्यतः नकस नाम से जाना जाता ह?ै 

[ए] गलै्वनीकरण 

[बी] सल्फोनेशन 

[सी] वल्केनाआजेशन 

[डी] हाआड्रोडेसल्फराआजेशन 
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ANSWERS 

1 D 21 A 41 C 61 B 81 D 101 B 121 C 141 B 

2 C 22 B 42 C 62 A 82 B 102 A 122 C 142 D 

3 C 23 B 43 B 63 D 83 A 103 A 123 B 143 C 

4 D 24 B 44 A 64 C 84 C 104 C 124 D 144 C 

5 B 25 B 45 E 65 A 85 D 105 C 125 C 145 D 

6 B 26 A 46 C 66 B 86 B 106 C 126 A 146 B 

7 C 27 D 47 C 67 C 87 B 107 C 127 C 147 D 

8 A 28 C 48 D 68 D 88 A 108 D 128 C 148 C 

9 D 29 B 49 D 69 A 89 A 109 D 129 D 149 D 

10 B 30 D 50 B 70 A 90 B 110 C 130 A 150 C 

11 B 31 A 51 D 71 D 91 C 111 C 131 A   

12 D 32 E 52 C 72 B 92 D 112 A 132 B   

13 A 33 C 53 D 73 B 93 B 113 C 133 B   

14 C 34 B 54 A 74 A 94 D 114 B 134 C   

15 C 35 D 55 A 75 B 95 B 115 C 135 B   

16 D 36 D 56 A 76 A 96 C 116 A 136 C   

17 B 37 B 57 A 77 D 97 A 117 A 137 D   

18 C 38 B 58 B 78 B 98 A 118 C 138 A   

19 D 39 A 59 C 79 D 99 D 119 D 139 B   

20 B 40 B 60 D 80 D 100 A 120 C 140 D   
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